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Python[ITTTITArray)TTITITT]

. [IT1List[]

(I Python T array (T - O

- {Tuple(]

Tuple [IT] List [T - [T

. [I[TIDictionary[]
[0 map MMM - Q000

. [TT1Set[]

(COTTTTITTITTTITTIOTIOTY - (OO

(L1111

e Listf a=['M, 'M , 123]

e TupleJb = (' [, ', 123)

e Dictionary Jc={1:'[m, 22'[M, 3:'[M}
e Set[d = {'Mm, 'mM, 123, 123}

(List)

[Py thon I TITTTTTITI



L.[I111]

AENRNNRNNRRNNRNNRRNRRNRRNRRRRRRRERREEY

listl = [10, 20, 30, 40, 50 ]
'Listz = [ Ilall, Ilbll, "C"’ n dll]
list3 = [' [, '[IIIIII11Rr400, "0912-000111", "2005/4/20", 170 , 65.3]

print(listl)
print(list2)
print(list3)

2.[TTTTIT]

T T T T IO T

listl

[10, 20, 30, 40, 50 ]
llstz = ["a", "b", "C", lldll, ||e||, “f"]

print (listl[0])
print (list2[2:5])

3.1
(D

list = [70, 60, 80, 90, 100 ]

print ("[M@OIO: ", list[3])
list[3] = 95

print ("[IITWOIO: ", listl[3])

[



[(BIIT]: 90
(ITTAOIT - 95

4. [T

(LITITTITTT]

list = [70, 60, 80, 90, 100 ]

print ("[IO: ", list)

del list[ 2]

print ("[OIIIT0O0: ", list)
(1

(I1: [70, 60, 80, 90, 100]
(I11111: [70, 60, 90, 100]

5.1

[T

(1T append( D

[T

fruit =[] #1111
fruit. append("apple")
print( fruit)

1.[Tfor(TTITITT]

HERRRRNNNNRRRNNNNRRRNRNNNNE




score = [70, 60, 80, 90, 100 ]
for i in range(5):

print(score[i])

(T OO OenOMlength) T T T T TIscoreJTTTTTen(score) TTTITITTITIT]

score = [70, 60, 80, 90, 100 ]

print(len(score))

(150

(LTI

score = [70, 60, 80, 90, 100 ]
for i in range(len(score)):

print(score[i])

2.[Tfor(ITITTTTT]

[(for(IIITIT range ()T

score = [70, 60, 80, 90, 100 ]
for i in score:

print(i)

[0 O

[ (T
TS O (List) T
[TLITist
sum=0
for i in range(  , _ ):

score = int(input("[IIII' + str(i) + "[IIt"))



sum =

print ( )

[TRITist

sum=0
score=[]
for i in range(1l, 6):
s = int(input("[OI0' + str(i) + "[OI1"))

score. append( )

for i in range( DK

sum +=

print (sum/5)

O T T A O T T T T T T TIB 6 [T TTT T

NERRNRRNNRRNNRNRNRRNRRNNRNNRRNRRNRRRRRREEEEED

score = [
[70, 60, 80, 90, 100 ],
[91, 85, 73, 100, 63 1,
[66, 91, 55, 81, 75 ]
]

O T SO I

(T OO (T score[ 2 ][4 ] OTITT] score[ 1 ][ 3]TTTIITIT

for i in range(3):
sum=0
for j in range(5):

sum+=score[i][ j]



print(sum)

T OCY OO OO OO T O OO T

e appendITTTTIIIIT]

o clear[ITTIIIIIIIT]

e COPY[IIITIIIITlist2 = listl.copy

e COUNtTTTITITIITIIIII I list.count(60)

o index(TTTITIIIIIIIIIIIIIIist.index(60)
e insert(TTTITITIIIT

e remove[ITTTITTIIITITlist.remove("a")

e reverse[[IITIT] list.reverse()

e sort[TTTIITlist.sort()[] list.sort(reverse=True)
e Max[IITITIIIIIIT] print(max(score))

e MINITITTTITIITT print(min(score))
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